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10 - 20 - 302X {XDER ST6E4H21H
IE {3 K % ouT I N TOTAL] HDCP NET
S 50 48 98 28.8 69.2
e HE R 41 46 87 15.6 71.4
3 fz| #EE KA 49 49 98 24 74
4 x| EE 'K 45 44 89 14.4 74.6
5 fiz| k#0E 48 53 101 26.4 74.6
B-B| #HH#= 69 69 138 36 102
A0E K DER
IE {3 K % ouT I N TOTAL] HDCP NET
AT 37 42 79 8.4 70.6
L BN 40 42 82 9.6 72.4
3 fz| EH 5L 42 38 80 7.2 72.8
4 2| FJNER 36 44 80 6 74
5 | =R —F 45 46 91 16.8 74.2
B-B| JIFE#&Z 56 67 123 36 87
505X DER
IE {3 K % ouT I N TOTAL] HDCP NET
& B =kiEA 43 44 87 16.8 70.2
s Lh BR 43 49 92 21.6 70.4
3 | HAEX 47 43 90 19.2 70.8
4 | BE HE 41 40 81 9.6 71.4
5 ] RERX 45 40 85 13.2 71.8
B-B| &R M- 67 61 128 36 92
60X DER
IE {3 K % ouT I N TOTAL] HDCP NET
BBl BEEe-—x 39 40 79 8.4 70.6
@ EiE ER 44 39 83 12 71
3 | HbE 40 42 82 10.8 71.2
4 fiz| #aE sL=ER 48 51 99 27.6 71.4
5 | &= & 40 48 88 15.6 72.4
B-B| BiE&R= 53 67 120 32.4 87.6
70 - 80X DER
IE {3 K % ouT I N TOTAL] HDCP NET
& Bl BB 41 46 87 15.6 71.4
| BA 2R 43 43 86 14.4 71.6
3 | B & 54 44 08 25.2 72.8
4 iz KT &% 42 43 85 12 73
5 | HilxE 50 47 97 24 73
B-B| Zff&x 56 50 106 21.6 84.4
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